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vi A Vv v mA | mAIV | VIV | k@ kQ| W || w
|
| 1 | . 130 | —45 I 8 24 | 12 5 s 30,06,‘ 5
Be Sim 381 05 | 1250 maximum (I, =20 mA; R, = 0,27 MQ) 3
, sl oqe 1130 —4 [ 8 | 24 | 12 |5 |5 006]5
Bh Sim | 1,380, 250 maximum (I =12 mA; R, = 0,16 MQ) 3
TS 11 PRI | 2 |4 | 025| 130 | —45 72 185 e
JAMM0A[STCE| 2 |4 | 025 (130 | —45 65 22 | 12 | 55 |
3A/M10B | STCE| 3 |4 | 025 }190 | —é 16,2 maximum 0,16
3528 STCS| 1 | 4 1 i \ ! ‘
608 A 1} 130 | —5 112 25 | 7 485|
4609 PRI | 2 | 42| 025, 130 | —s5 8 23 | 11 | 48 |6 |
1) vide *4
Equivalents
P 422 TuM = 3AJ110A | S4022-B STCS = 3A/110B ‘ 4C2 TKD = 4609
R 101 Dar = 4609 TS 28 Phl = Bh 4022 AR STCE = 3 A/110A
S 4022-AR  STCS = 3A/110A | TS31 PRl = Be | 40228 STCE = 3 AJ110B
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